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A 01 Don’t forget to say, “Thank you.”
02 Stop folding dog ears in books.
03 Helping Judy, he gets closer to her.
04 The more you love your books, the happier your books will
be.
05 It's not so difficult for you to learn how to read and write
your own secret messages.
B 01 Peace makes everyone smile.
02 Do you know what books hate?
03 The lines around each letter mean the letter inside the
lines.
04 Doing something nice for your neighbors can change your
town.
05 Big ugly carrots are cut into small pieces that have the

shape of a baby carrot.
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